PALL.

<]

q_

o

=2

19

30

%7

16 20

30’

13

30°

o 4 2 %o G

15

30’

)




ohe B40] M stel D - @9 ke TS,

3_1_[2]

5 5
» =

> =g 3
3_1_3-1_2
5 5 5 5

wrabA] 5 -2 = 3YYrch







o e Afgo] 1 relA] 7

A2

o

=

=

et w3
okl 7

[e3]
=

G
GO
Q@ ©
PSR gbs
TR
GO
@ @




o3 A4S sHA L.

5 1
3— _
7+27
6
@ 3= @ 4? @ 5— @ 6—




)
%

il

11

12— L
15

®

©)
@

9 5
G+7)+(=+—

PANENRE
12+ 7 =127:(L)

2
15

| 9
51—5+7




7 1 11
@ 5-15 ©7-35 © 10-553
D 9,006 ©® 9,0, ® 0,06
@ ©,0,0 ®)6,©, 0

7 13 .7 6
O5-15 =4 -1 =35
1 13 1 12
©7-35 =0 -37=37
11 13 _11 2
]_ —_ — = _— —:4—
©10-573 =973 ~573 =433

At 2 &Mtz Ydstd
©. ©, oYY,




F20019] A4 120 em ol 1, Ho]e] A= f3012] Ak 1] om

o AUk ARl 2ol Zojo] gre FahAlS.

= 5 7 7
algelel Aol dej : 125 — 15 = 105 (em)
) 7 12 3 3

122 +10- =922+ — =922+ 1= =93>




7 9
i —k

@ 36110kg @) 35130 g ® 3
% 40— k

@4010 g ® 010 g

8 7 1
Z~nlo] B2 AN —1— = —(k
(e wFA)= 3855 — 195 = 3715 (ke)

_ 1 2 11 2
3lo] =2 =37— -1— =36— - 1—
(8] o] E57A) =37 5~ 175 =3635 ~ 110

=35 (k
3510( g)




10.

2 Fgoldl FollA tuztz| o] Aot FAd7tA 9] A& W
el Adyh fgoldl HollA o]z o] ¥ km © H A2l
oA L.

B 93 b}

-‘j },/27kll\lﬁ _ 37km\\ “W‘.

st Fgoly E!
@Q‘i’_,gkm @ st 1§km ® 34 gkm
2 2

@%%, 1? km ® Y ?km

(ol ~ ) - (el ~ 3m)

5 km) o] B2

FA7AE A2} 12 an ) HY e,




ol 5 7N

11.

C>4;7H

A

3
:
42 7
©7H

@ 3

@4§m

D)3




12, 7122 Zol7h 122 em , 2] 201792 em Q) A4 A
o} 7h2o] Zoli Al2o] Aojuet B cm o 714 oA 2.

(}29] ol) (A2 Zo))
3 ) 11 ) 6




7

! 8
2ol7 612 e, 8. €12 709] B 01 135 em 7 1

U 8 9 U E em 7 2GR T4,

Q 1% cm @ 11123 cm ® 7% am
@ QE cm ® T cm
27)0] ] Aol &
13 7 13 7 20
615+815 (6+8)+(15 15) 15(Cm)
2719 & Sl= d] 220 o]
20 8 20 8
=14— -13— = (14-13 — - —
;505 ST
12
=1 (em)

15




11 i
3055 kgO|H, 2] Fole] FF A= & kgQlA] oA L.
20 8
29—k 4=k 2k
11 9 20
A 30— +4— = 34—
3 3022+422 3422(kg)

20 8 12
—3— —31== (k
5 355 =315, (ke)

214 342—




iy

15. [ Rrejdwe 24

7 2 13
_ — =11— -
50+ 3 = 1= -]

S A Q.

2
@51—5

4
@31—5

4 3 4
@ 21—5 @ 31_5 ® 71_5
7 2 9
b i =N
13 9
==l [=84
13 9 4
D_111—5—81—5 I




16.

28 35 6 8
=4 = - 1=
oR'n g
© 30" %0 ST
> E
> AED @

A4S Zh-S o1,
2
1 8
© 745 ~155 =535~ 115 =519
88 7 8 7 1
© 30 %10~ %10 %0~ %0
33 6 3 9

10 10 10 10
whebd 71 2 ke @YUt

6
@3E+—=3—+3—=6—<§HE}.




L

1

1 ) 9,4,9 5 2% 3 HA ALESle] Er ot
= olsych RS0l 27} A & A9 1 3t

N

T

T

?‘

n

ol

‘l_

i
Al

2~
T

AR =
T &40 A5 7P ZA st | i
BHol 27} L2 fEA2 atEojof g h

= ©wE

- 1 4
2, % BAe A 4g 30 = ¢ A

2o Rt 27o] gl 08 ASF,

i



U254 o] LRt 24k 9h2 19 o],

=]
@9 Bmet £A19] gL 17 o] 3, F-L 60

AupQlA] FSHA 2.,

> E

> HE: 1

T

B

9 8 7
D 2

olwo] Z-& 77} 90, 88, 84

7 6 5
O e
ojufj o] F-& Z+2} 70, 66, 60

He @ + Q= + = = 1o

— =1
12 12




1.2 9 10
Loz +257 4+ 975 + 10

142
:(1+2+---+9+10)+{( Sk

:55+%=55+5:60

---+9+10)}
11




T2

ufelr] 75

)
1

2l

) T oo
B ) —
o ol Il
) 10 1o o e
iy I _
_H_ 8A_,.9 »io MLHQ
) I I
% [ 4 e
wn_ SIS I [
z 1o 010




